

Some Properties of (p, q) - Lucas Number

ALONGKOT SUVARNAMANI

*Department of Mathematics, Rajamangala University of Technology Thanyaburi,
Pathum Thani, 12110, Thailand*

e-mail : kotmaster2@rmutt.ac.th

ABSTRACT. In this paper, we consider the generalized Lucas sequence which is the (p, q) - Lucas sequence. Then we used the Binet's formula to show some properties of the (p, q) - Lucas number. We get some generalized identities of the (p, q) - Lucas number.

1. Introduction

Fibonacci number and Lucas number cover a wide range of interest in modern mathematics as they appear in the comprehensive works of Koshy [4] and Vajda [5]. The Fibonacci number F_n is the term of the sequence where each term is the sum of the two previous terms beginning with the initial values $F_0 = 0$ and $F_1 = 1$. The well-known Fibonacci sequence $\{F_n\}$ is defined as $F_0 = 0, F_1 = 1$ and $F_n = F_{n-1} + F_{n-2}$ for $n \geq 2$. And the Lucas sequence is defined as $L_0 = 2, L_1 = 1$ and $L_n = L_{n-1} + L_{n-2}$ for $n \geq 2$.

Falcon [3] studied the k -Lucas sequence $\{L_{k,n}\}$ which is defined as $L_{k,0} = 2, L_{k,1} = k$ and $L_{k,n+1} = kL_{k,n} + L_{k,n-1}$ for $n \geq 1, k \geq 1$. If $k = 1$, we get the classical Lucas sequence $\{2, 1, 3, 4, 7, 11, 18, \dots\}$. If $k = 2$, we get the Pell-Lucas sequence $\{2, 2, 6, 14, 34, 82, 198, \dots\}$.

The well-known Binet's formulas for k -Fibonacci number and k -Lucas number, see [1, 2, 3], are given by $F_{k,n} = \frac{r_1^n - r_2^n}{r_1 - r_2}$ and $L_{k,n} = r_1^n + r_2^n$ where $r_1 = \frac{k + \sqrt{k^2 + 4}}{2}$ and $r_2 = \frac{k - \sqrt{k^2 + 4}}{2}$ are roots of the characteristic equation $r^2 - kr - 1 = 0$. We note that $r_1 + r_2 = k, r_1 r_2 = -1$ and $r_1 - r_2 = \sqrt{k^2 + 4}$.

The generalized of Fibonacci sequence $\{F_{p,q,n}\}$ is defined as $F_{p,q,0} = 0, F_{p,q,1} = 1$ and $F_{p,q,n} = pF_{p,q,n-1} + qF_{p,q,n-2}$ for $n \geq 2$ which we call the (p, q) - Fibonacci sequence. So, each term of the (p, q) - Fibonacci sequence is called (p, q) - Fibonacci

Received June 11, 2015; revised February 8, 2016; accepted February 26, 2016.

2010 Mathematics Subject Classification: 11B39.

Key words and phrases: Lucas Number, Generalized Lucas Sequence, Binet's Formula.

number. Moreover, the generalized of Lucas sequence $\{L_{p,q,n}\}$ is defined as $L_{p,q,0} = 2$, $L_{p,q,1} = p$ and $L_{p,q,n} = pL_{p,q,n-1} + qL_{p,q,n-2}$. So, it is called the (p, q) - Lucas sequence. Then each term of the (p, q) - Lucas sequence is called (p, q) - Lucas number. The Binet's formulas for the (p, q) - Fibonacci number and the (p, q)

- Lucas number are given by $F_{p,q,n} = \frac{r_1^n - r_2^n}{r_1 - r_2}$ and $L_{p,q,n} = r_1^n + r_2^n$ where $r_1 = \frac{p + \sqrt{p^2 + 4q}}{2}$ and $r_2 = \frac{p - \sqrt{p^2 + 4q}}{2}$ are roots of the characteristic equation $r^2 - pr - q = 0$. We note that $r_1 + r_2 = p$, $r_1 r_2 = -q$ and $r_1 - r_2 = \sqrt{p^2 + 4q}$.

In 2015, Suvarnamani and Tatong [6] proved some results of the (p, q) - Fibonacci number. Moreover, Raina and Srivastava [7] showed a class of numbers associated with the Lucas number. Then Djordjevic and Srivastava [8] showed the example for the application of the Fibonacci number to the generalized function. In this paper, we find some properties of the (p, q) - Lucas numbers.

2. Main Results

Theorem 2.1. For $n \geq 1$, we get $L_{p,q,n+1}L_{p,q,n-1} - L_{p,q,n}^2 = (-q)^{n-1}(p^2 + 4q)$.

Proof. For $n \geq 1$, we have $L_{p,q,n+1}L_{p,q,n-1} - L_{p,q,n}^2$
 $= (r_1^{n+1} + r_2^{n+1})(r_1^{n-1} + r_2^{n-1}) - (r_1^n + r_2^n)^2$
 $= (r_1^{2n} + r_2^{2n} + r_1^{n-1}r_2^{n+1} + r_1^{n+1}r_2^{n-1}) - (r_1^{2n} + 2r_1^n r_2^n + r_2^{2n})$
 $= r_1^{n+1}r_2^{n-1} + r_1^{n-1}r_2^{n+1} - 2r_1^n r_2^n$
 $= r_1^{n-1}r_2^{n-1}(r_1^2 - 2r_1 r_2 + r_2^2)$
 $= (-q)^{n-1}(r_1 - r_2)^2$
 $= (-q)^{n-1}(p^2 + 4q). \quad \square$

Theorem 2.2. For $n \geq 2$, we get

$$L_{p,q,n-2}L_{p,q,n+1} - L_{p,q,n-1}L_{p,q,n} = (-q)^{n-2}(p^3 + 4pq).$$

Proof. For $n \geq 2$, we have $L_{p,q,n-2}L_{p,q,n+1} - L_{p,q,n-1}L_{p,q,n}$
 $= (r_1^{n-2} + r_2^{n-2})(r_1^{n+1} + r_2^{n+1}) - (r_1^{n-1} + r_2^{n-1})(r_1^n + r_2^n)$
 $= (r_1^{2n-1} + r_2^{2n-1} + r_1^{n-2}r_2^{n+1} + r_1^{n+1}r_2^{n-2}) - (r_1^{2n-1} + r_2^{2n-1} + r_1^n r_2^{n-1} + r_1^{n-1}r_2^n)$
 $= r_1^{n-2}r_2^{n+1} + r_1^{n+1}r_2^{n-2} - r_1^n r_2^{n-1} - r_1^{n-1}r_2^n$
 $= r_1^{n-2}r_2^{n-2}(r_1^3 + r_2^3 - r_1^2 r_2 - r_1 r_2^2)$
 $= (-q)^{n-2}(r_1 - r_2)(r_1^2 - r_2^2)$
 $= (-q)^{n-2}(r_1 + r_2)(r_1 - r_2)^2$
 $= (-q)^{n-2}(p)(p^2 + 4q)$
 $= (-q)^{n-2}(p^3 + 4pq). \quad \square$

Theorem 2.3. For $n \geq 1$, we get $L_{p,q,n+1}L_{p,q,n-1} + (-q)^n(p^2 + 4q) = L_{p,q,n}^2$.

Proof. For $n \geq 1$, by Theorem 2.1, we have
 $L_{p,q,n+1}L_{p,q,n-1} - L_{p,q,n}^2 = (-q)^{n-1}(p^2 + 4q).$

We get $L_{p,q,n+1}L_{p,q,n-1} - (-q)^{n-1}(p^2 + 4q) = L_{p,q,n}^2$.
 So, $L_{p,q,n+1}L_{p,q,n-1} + (-q)^n(p^2 + 4q) = L_{p,q,n}^2$. □

Theorem 2.4. For $m, n \geq 1$, we get

$$L_{p,q,m}L_{p,q,n+1} + qL_{p,q,m-1}L_{p,q,n} = (p^2 + 4q)F_{p,q,m+n}.$$

Proof. For $m, n \geq 1$, we have

$$\begin{aligned} & L_{p,q,m}L_{p,q,n+1} + qL_{p,q,m-1}L_{p,q,n} \\ &= (r_1^m + r_2^m)(r_1^{n+1} + r_2^{n+1}) + (-r_1r_2)(r_1^{m-1} + r_2^{m-1})(r_1^n + r_2^n) \\ &= r_1^{m+n+1} + r_2^{m+n+1} + r_1^{n+1}r_2^m + r_1^mr_2^{n+1} - r_1^{m+n}r_2 - r_2^{m+n}r_1 - r_1^{n+1}r_2^m - r_1^mr_2^{n+1} \\ &= r_1^{m+n+1} + r_2^{m+n+1} - r_1^{m+n}r_2 - r_2^{m+n}r_1 \\ &= r_1^{m+n}(r_1 - r_2) - r_2^{m+n}(r_1 - r_2) \\ &= (r_1^{m+n} - r_2^{m+n})(r_1 - r_2) \\ &= \frac{r_1^{m+n} - r_2^{m+n}}{r_1 - r_2}(r_1 - r_2)^2 \\ &= F_{p,q,m+n}(p^2 + 4q). \end{aligned} \quad \square$$

Theorem 2.5. For $m, n \geq 1$, we get

$$L_{p,q,m-n}L_{p,q,m+n} - L_{p,q,m}^2 = (-q)^{m-n}(p^2 + 4q).$$

Proof. For $m, n \geq 1$, we have

$$\begin{aligned} & L_{p,q,m-n}L_{p,q,m+n} - L_{p,q,m}^2 \\ &= (r_1^{m-n} + r_2^{m-n})(r_1^{m+n} + r_2^{m+n}) - (r_1^m + r_2^m)^2 \\ &= r_1^{2m} + r_1^{m+n}r_2^{m-n} + r_1^{m-n}r_2^{m+n} + r_2^{2m} - r_1^{2m} - r_2^{2m} - 2r_1^mr_2^m - r_2^{2m} \\ &= r_1^{m+n}r_2^{m-n} + r_1^{m-n}r_2^{m+n} - 2r_1^mr_2^m \\ &= r_1^{m-n}r_2^{m-n}(r_1^{2n} - 2r_1^n r_2^n + r_2^{2n}) \\ &= (-q)^{m-n}(r_1^n - r_2^n)^2 \\ &= (-q)^{m-n}(r_1^n - r_2^n)^2 \frac{r_1 - r_2}{r_1 - r_2} \\ &= (-q)^{m-n} \sqrt{p^2 + 4q} F_{p,q,n}^2. \end{aligned} \quad \square$$

Theorem 2.6. For $m, n, k \geq 1$, we get

$$L_{p,q,m+n}L_{p,q,m+k} - L_{p,q,m}L_{p,q,m+n+k} = (-1)^{m+1}q^m(p^2 + 4q)F_{p,q,n}F_{p,q,k}.$$

Proof. For $m, n \geq 1$, we have

$$\begin{aligned} & L_{p,q,m+n}L_{p,q,m+k} - L_{p,q,m}L_{p,q,m+n+k} \\ &= (r_1^{m+n} + r_2^{m+n})(r_1^{m+k} + r_2^{m+k}) - (r_1^m + r_2^m)(r_1^{m+n+k} + r_2^{m+n+k}) \\ &= r_1^{m+n}r_2^{m+k} + r_1^{m+k}r_2^{m+n} - r_1^mr_2^{m+n+k} - r_1^{m+n+k}r_2^m \\ &= r_1^mr_2^m(r_1^n r_2^k + r_1^k r_2^n - r_2^{n+k} - r_1^{n+k}) \\ &= (-q)^m(r_2^k(r_1^n - r_2^n) - r_1^k(r_1^n - r_2^n)) \\ &= (-1)(-q)^m(r_1^n - r_2^n)(r_1^k - r_2^k) \\ &= (-1)^{m+1}q^m(p^2 + 4q)F_{p,q,n}F_{p,q,k}. \end{aligned} \quad \square$$

Theorem 2.7.

$$\lim_{n \rightarrow \infty} \frac{L_{p,q,n}}{L_{p,q,n-1}} = r_1.$$

$$\begin{aligned} \text{Proof. } \lim_{n \rightarrow \infty} \frac{L_{p,q,n}}{L_{p,q,n-1}} &= \lim_{n \rightarrow \infty} \frac{r_1^n + r_2^n}{r_1^{n-1} + r_2^{n-1}} \\ &= \lim_{n \rightarrow \infty} \frac{r_1^n (1 + (\frac{r_2}{r_1})^n)}{r_1^{n-1} (1 + (\frac{r_2}{r_1})^{n-1})} \\ &= \lim_{n \rightarrow \infty} \frac{r_1 (1 + (\frac{r_2}{r_1})^n)}{1 + (\frac{r_2}{r_1})^{n-1}}. \end{aligned}$$

Using the ratio $\frac{r_2}{r_1}$, then $\lim_{n \rightarrow \infty} (\frac{r_2}{r_1})^n = 0$.

Next, we get $\lim_{n \rightarrow \infty} \frac{L_{p,q,n}}{L_{p,q,n-1}} = r_1$. □

Acknowledgements. I would like to thank the referees for their comments and suggestions on the manuscript. This work was supported by the Faculty of Sciences and Technology, Rajamangala University of Technology Thanyaburi (RMUTT), Thailand.

References

- [1] C. Bolat, A. Ipeck and H. Kose, *On the Sequence Related to Lucas Numbers and Its Properties*, *Mathematica Aeterna*, **2**(2012), 63-75.
- [2] S. Falcon and A. Plaza, *On the k-Fibonacci Numbers*, *Chaos, Solitons and Fractals*, **32**(2007), 1615-1624.
- [3] S. Falcon, *On the k-Lucas Numbers*, *International Journal of Contemporary Mathematical Sciences*, **6**(2011), 1039-1050.
- [4] T. Koshy, *Fibonacci and Lucas Numbers with Applications*, Wiley-Interscience, New York, NY, USA, 2001.
- [5] S. Vajda, *Fibonacci and Lucas Numbers and the Golden Section*, Ellis Horwood, Chichester, UK, 1989.
- [6] A. Suvarnamani and M. Tatong, *Some Properties of (p, q) - Fibonacci Numbers*, *Science and Technology RMUTT Journal*, **5**(2)(2015), 17-21.
- [7] R. K. Raina and H. M. Srivastava, *A class of numbers associated with the Lucas numbers*, *Math. Comput. Modelling*, **25**(7)(1997), 15-22.
- [8] G. B. Djordjevic'c and H. M. Srivastava, *Some generalizations of certain sequences associated with the Fibonacci numbers*, *J. Indonesian Math. Soc.*, **12**(2006), 99-112.